Cll# CnoxeHue U BbIYUTaHKE (110 TOPU3OHTAIIN)

Nwms:

Pemure kaxayr 3axauy.

00)

30+ 16 = 46

1) 656-139=

2) 8+4+1=

3)

49 7+1=

5 10-1=

6) 41 +9=

7

8 81+7=

9 95-5=

10) 579 + 180 =

11)

12) 15+2=

OTBeEeTHI
00. 46
1.
2.
3
4.
5.
6.
7.
8.
9.
10.

11.

12.
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jh CnoxeHue U BbIYUTaHKE (110 TOPU3OHTAIIN)

Nwms:

Kiwu k IpaBUJIBHBIM OTBETaM

Pemure kaxayr 3axauy.

00) 30+ 16= 46
D 656-139= 517
2) 8+41= 9

3 5.2= 3

Y 7+1= 8

5 10-1= 9

6) 41+9= 50
N 4-1= 3

8) 81+7= 88
9 95-5= 90
10) 579+180= 759
1) g_1= 7

12) 15+2= 17

OTBeTHL

o6 46
1. 517
2 9

3 3

4 8

5 9

6 50
7 3

8 88
9 90
10. 759
11. 7
12. 17

1-10

E\/IaTeMaTHKa www.CommonCoreSheets.ru 11-12

75| 67]58[50[42[33[25]17]




Cll# CnoxeHue U BbIYUTaHKE (110 TOPU3OHTAIIN)

Nwms:
Pemnre Kaxayro 3aaaudy. OTBeTHI
9 90 9 8 759
3 50 517 88 3 o6 46
) 30+16= 46 I
2.
D) 656-139=
3.
4,
5.
3) 5_.2= 6.
7.
8.
9.
5) 10-1=
10.
6) 41+9=
N 4-1=
8 81+7=
9 95-5=

10) 579 +180=
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